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D∇4w(x, y, t) + ρh
∂2w(x, y, t)

∂2t
= 0; 7�8

w(x, y, t)
∣∣|x|=a/2

= 0,
∂w(x, y, t)

∂x

∣∣∣|x|=a/2
= 0; 7+8

w(x, y, t)
∣∣
y=0,b

= 0,
∂2w(x, y, t)

∂2y

∣∣∣
y=0,b

= 0. 7-8

9�
�� w(x, y, t) . ����
� ����	
��: ∇4 = ∇2∇2: ∇2 = ∂2/∂2x + ∂2/∂2y . �
������
�
�
��
� �
$$
�
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������ ��
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������ � ������������� �
�	
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 �����
��	:
D = Eh3/[12(1−ν2)] . %
�
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�	���	� ����	
��' ; ·�: ρ . ���	���	� ��	
�
�
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w(x, y, t) = w(x, y) eiωt . 708

?��
� �������' ������ 7�8 � ��
	�� ����(
�
� 708 ��
�
��
	 �
�

∇4w(x, y) = λw(x, y),

��
 �
�
�
�� λ = ρhω2/D 
�

	 ����
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�
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b2
√
λ 8�
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w(x, y) =
mx∑
m=1

my∑
n=1

Um(x) sin
nπy

b
,

m = 1, 3, 5, . . . , mx, n = 1, 2, 3, . . . , my,

7>8
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Um(x) =
4

π5m5
+ Am ch

mπx

b
+Bm

mπx

b
sh

mπx

b
7Am' Bm . ����	��	�' ���
�
��
��
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 Vn(y) = sin (nπy/b)� ?���� ����&
�
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w(x, y) =

mx∑
m=1

my∑
n=1

Um(x)Vn(y).
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w(x, y) =

mx∑
m=1

my∑
n=1

amUm(x)bnVn(y),

��
 am' bn . ���
������� ��������
 ���	�����
' ��	���
 ���
�
��"	�� 
� �����
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b∫

0

a/2∫

−a/2

mx∑
m=1

my∑
n=1

[∇4(amUm(x)bnVn(y))− λ(amUm(x)bnVn(y))
]
Up(x)Vq(y) dx dy = 0. 758

��
������
� �����

 758� 9��
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∇4(Um(x)Vn(y))Up(x)Vq(y) = ∇2(Um(x)Vn(y))∇2(Up(x)Vq(y)).

����� ��	�
%� A ����
��� p× q' m×n' ��� #�
�
�	� pqmn #	�� ��	�
%� ������
�

Apqmn =

a/2∫

−a/2

U ′′
mU ′′

p dx

b∫

0

VnVq dy +

a/2∫

−a/2

UmUp dx

b∫

0

V ′′
n V

′′
q dy +

+

a/2∫

−a/2

UmU ′′
p dx

b∫

0

V ′′
n Vq dy +

a/2∫

−a/2

U ′′
mUp dx

b∫

0

VnV
′′
q dy.

����� ��	�
%� B 	��� &
 ����
��' �	� 
 A' ��� #�
�
�	� pqmn ������
� ����&
�



Bpqmn =

a/2∫

−a/2

UmUp dx

b∫

0

VnVq dy.

���
��
� 
�	
�����' ��
	����' �	�

V ′′
n =

∂2

∂2y
sin

nπy

b
= −

(nπ
b

)2
sin

nπy

b
, Vq = δnqVn,

U ′′
m(x) =

(mπ

b

)2
Am ch

mπx

b
+ 2

(mπ

b

)2
Bm ch

mπx

b
+
(mπ

b

)3
Bmx sh

mπx

b
7δnq . �
���� B���
�
��8� ?����

b∫

0

V ′′
n Vq dy =

b∫

0

VnV
′′
q dy = −

(nπ
b

)2 b∫

0

V 2
n dy = δnq

1

2

nπ

b

(
cos(nπ) sin(nπ)− nπ

)
,
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b∫

0

VnVq dy = −δnq
b

2nπ

(
cos (nπ) sin (nπ)− nπ

)
, 7A8

b∫

0

V ′′
n Vq dy = −δnq

1

2

(nπ
b

)3(
cos (nπ) sin (nπ)− nπ

)
.

?��
� �������' 
�	
����� � 7A8 ����"	�� �
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 n = q�
1�	
����� �� �
�
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���� x ����	 ��	� ���
��
�� �
�� ����
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 m = p %
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m �= p . ���
��
	� 
�	
����� � 
����������

� ������	����� $�����

a/2∫

−a/2

f(x) dx =
mx∑
k=1

Ckf(xk),

Ck =
a

mx

(
1 +

mx−1∑
l=2(2)

2

1− l2
cos (lθk)

)
, θk =

a

2

2k − 1

2mx
π, xk = cos

(a
2

2k − 1

2mx
π
)
.
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mx∑
m,p=1

my∑
n,q=1

ambnApqmn = λ
mx∑

m,p=1

my∑
n,q=1

ambnBpqmn, 7C8
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B−1A = λE. 7E8

@�� �����
�
� ����	�
���� ����
�
� λ �
�����
�� ���
��
	� ����	�
���
 ����
�
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��	�
%� B−1A� ?��
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FGJKLM 
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' � ��	���� mx = my = 1' 	� 
� m = n = p = q = 1' 	� 
� 7E8 ��
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ϕ b2
√
λ

�%/�"/6$##�$ .#�7$#/$ ��7#�$ .#�7$#/$ 829 Δ� :

��� �1��;� ��� �� �;�1<�1 ��3�
��< ���31� �<� 21 ���2�2� ���;
��3 �3����� 2<2 3� �3<�3;21 ��2�
�=2 <��<�1 2�� ;� <��23;� ��21
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����	� 
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�� ��
������� ��
���� � ��
����	� 
������� a� b� ϕ

25× 25
>a = b = 2� ϕ = 1?

25× 25
>a = 3� b = 2� ϕ = 1,5?

17× 17
>a = 4� b = 2� ϕ = 2?

25× 25
>a = 2,5� b = 2� ϕ = 1,25?

�;�1<� 1�� <�; ���3;� <;� <3� �2�<�� ��� �11 ���2�� 23� �2<

<3��32 ��� ��� 3<�3;3 <1� 12� 3���;3 ��< <�� 3;�<�� ��� �<�

������< 3;2 ;�� �2���� �32 ;�� 3;��32 �2; 1;� ;��1�� 11< �2�

��;�;�� ;�1 ;�� ;1�1<� ��� ;1� �2���� �;3 ��� 1��1�; ;�3 3�<

�<3�<;; 3;� �2� 13���� �2� ��3 1��2;2 �;1 �2� ����123 1;3 �1�

����23< ��< ��� �2����� �;1 22� ��1��33 ;2< 3�� �<;�1�� ��2 ���

�11��11 ;�1 3�� ��2���� 3;� <1� �<<���1 ;�� 1<� ��<�<�3 ��< ���

�<<���3 1�� 11� ��2�;�� 3�� 11� �<<���1 ;�� 1<� ��<��21 ;2� 1;�

�<;���2 �<3 �2� �1;�23� �<� ;2� ����<;< ;;< �;� �2;��22 ��1 ���

��<��2� ��; 1�� ��2�1�� ��� 22� �;3��3; <3� 1�� �<3��;; ��� �;�

����<�� <;2 �;� �3����2 1;2 �<� �;����1 ;<2 3�� ��3���2 322 ;��

�11�<2< �2< ��� �<����1 ��� �2� ������� 2<� �1� ��;��2� 232 <1�

2���;<; ��; ��� �1����< 3�2 �<� �3���<; 3�2 <;� 2�;�1�� ��; �3�

2�;�3�; <<� ��� 2�<���2 �<1 ��� �31�2;< �32 ��� 2�2���� ��1 1<�

23;�2�� �;� ��� 2������ ��< <;� ��<��2� ;<� 31� 2���3�� <22 1��

2<����� ��; ��� 21��223 ��� 33� 2�;���� 3�< ��� 2���123 ��� ���

2���;�� <<� 2�� 211�3�� 2�; ��� 221�3�< 1�; ��� 3�;�2�; ��� <��

2���2�� ��< �1� 3;;�3�< ��� ��� 2<��1<� ��� 22� 3�1�1�� �;� <��

332���3 �3� ��� 31<�1;; ��� ;1� 2;2�<�� �1� ��� 31����< <<1 �2�

3<��3�1 �<� 3�� <����<2 �;; ��� 21����� ;�2 <<� <�;��;� ��2 �1�

313�;�; ��; <�� <<��13� �1� ��� 3;����� �<; <1� <3��2�1 <2< ;��

<�1��3< �1� 2�� <�<���� �2< 21� 31;�<32 ��2 11� <<����3 ;�� 1��

<�1�<;2 ��< ;2� <;��2�1 1�� ��� <���<�< 2�� ��� �2;�<�� <�2 <3�

<;3���� 1�� ��� ������3 2;< ��� ��1���; �11 ��� �<;�<<2 �1� 3��

<;<��3� �;; ��� ��2�2�� ��� 3<� �23���� ��� ��� �;2��2� ;3� ���

��1��;2 2;� 33� �2��<3� 31; ��� �2���3� ��� ��� �12���< ;<1 ���

�2<�<�2 �1; 2�� �<1�;�� �<3 �<� ��1��;1 �1� ��� ;����;; ;�� ���

�2��2�< ��1 ��� �<1�;�� �<3 �<� �;1�;<� 322 ��� ;���2�� 1�; <1�

�3����� ;�� ;3� �;2��2� ��< ;�� ;������ ��� ;<� ;����;� 2�� ���

��3���< ��; 2;� �31���3 ;�< �;� ;���;�� ;�� ��� ;����<2 1;� �1�

��3�<�� ��< �1� ��1��31 ��� ��� ;;3���� ��3 ��� ;�;�<�< 2;3 �1�

�2���1� ��� <�� ;�3��2� �;� ;�� 1;1�<2� 1;� �3� 1���322 ;�� ;3�

�3��1�< 1�� 32� ;3��;�3 2�� 33� 11��3�; 3;� ��� 122��;� 11� �<�

�<���;� �1; 2�� 1���1�� 1;� �2� ���;�21; ;32 ��� 1�1�;�2 �2� ���

����<3� 23� 2�� 12��;�3 2<� 33� ���;�21; ;32 ��� 112���� 3�� �;�

;�����1 1�� ��� 1<3��;� 1�2 ��� �����3<1 <1� 3�� ��3;�3;� ��� ���

;���2�; ;�� �<� 1<3��;� 1�2 ��� ��1��13� ��� <�� ��<����< ��� <��

;3;�322 2<; 13� 11����< ;�� ��� ��1���3� ;1< 1�� ��2��23� �3� ���

;;��<�� 22< <�� �����2<3 <3; <�� ���;�;;1 2�3 ��� ��3<�1�� <<; ���

;1��;�� <�� <�� ���2�<�2 1�� ��� ��33��;� �<2 ��� ��<��<<3 ��� 3��
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